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1. 20% Consider a pn junction in forward bias. | |
(a) To obtain a current of 1.5mA with a voltage of 750mA, how should s be chosen?
(b) If the diode cross section area is now tripled, what voltage yields a current of 1.5mA?

2. 20% Assuming a constant-voltage diode model with Vp = V/p ., in forward bias condition with the
circuit as shown in Fig. 2,

(a) plot V,,, as a function of /,, and

(b) plot V., as a function of time if /, = I; sinot with a relatively large 1.
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Fig. 2

3. 10% Determine the operating point of Q) of the circuits shown in Fig. 3. Assume Is=3 x 10" A, f=
100, and V, = o0,

4. 20% Compute the bias point of the circuits depicted in Fig. 4. Assume Ig=6 x 107'¢ A, £=100, and V
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5. 10% Draw the small signal equivalent circuit of Fig. 5 by using the n-model.

Fig. 5

6. 20% Calculate Vou/ Vin for the circuit depicted in Fig. 6. Assume [ = 8 x 10716 A, =100, and V= .
Also assume the capacitor, C}, is very large.
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